CENTURION DEFENCE ACADEMY

Timing : 45 min
M.M: 50

AIRFORCE — (Y GROUP)
Direction : (1-3) Read the following passage and (c) economic system of the 19th century
answer  the  questions  given  below. (d) growth of industry in the 19th century
Passage 4. Give one word substitute.

Many Sociologists have argued that there is a
functional relationship between education and
economic system. They point to the fact that mass
formal education began in industrial society and is
an established part of all industrial societies. They
note that the expansion of the economies of
industrial  societies is accompanied by a
corresponding expansion of their educational
systems. They explain this correspondence in
terms of the needs of industry for skilled and
trained manpower, needs which are met by the
educational system, thus the provision of mass
elementary education in Britain in 1870 can be
seen as a response to the needs of industry for a
literate and numerate work-force at a time when
industrial processes were becoming more.
Complex and the demand for technical skills was
steadily growing.

1. By ‘functional relationship’ is meant
(a) a short-term relationship3
(b) practical and utilitarian relationship
(c) temporary arrangement
(d) close and unbreakable relationship

2. The industry needs a
because
(a) its expansion needs sound learning
(b) it relies heavily on expertise
(c) it promotes a competitive spirit
(d) its operations need intricate
knowledge

literate workforce

technical

3. The observations of the Sociologists are based
on a study of
(a) the statistical data available in a historical
context
(b) the correlation between industry and
education in a historical context

1

One who is irreverent towards God.
(a) Criminal (b) Atheist
(c) Theist (d) Blasphemous
8. Give one word substitute.
The state of being unmarried.
(a) Dilettante (b) Bigamy
(c) Celibacy (d) Celibate
6. Identify the correct choice.
Even in today’s modern society, people ..........
god to bring rains.

(a) Provoke (b) Appeal
(c) Evoke (d) Propitiate
7. Select the correct verb.
Whenl ......... my bath, | went to have a sleep.
(a) had taken (b) took
(c) have taken (d) take

8. Identify the correct preposition.
When | heard of my grandmother’s death, |
burst......... tears.
(a) at
(c) into

(b) upon

(d) in

9. Choose the correct word.
(a) Begining (b) Beggining
(c) Beginning (d) Biginning

10. Fill in the blank with correct article.
...... sick dog died yesterday.

(@) An (b) The

(c) A (d) v
11.Identify the antonym of the given word.

‘Reprimand’

(a) Praise (b) Encourage

(c) Recommend (d) Release
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12.|dentify the antonym of the given word.

‘Unsullied’
(a) Visible (b) Foul
(c) Stainless (d) Strong

13.ldentify the Indirect Speech.

Sarita said to me, “l will do it now or never.”

(a) Sarita told me that she would do then or
never

(b) Sarita told me that | would do it then or
never

(c) Sarita told me that she would do it now or
never

(d) Sarita told me that she will do that now or
never

14.Change the Voice.

Somebody told me that there had been an

explosion in the Town Hall.

(&) 1was told by somebody about the explosion
in the Town Hall

(b) 1 was told about the explosion in the Town
Hall

(c) l'was informed that there was an explosion
in the Town Hall

(d) 1was told by somebody that there had been
an explosion in the Town Hall

15.Identify the synonym of the given word.
‘Belittle’

(@) Diminish (b) Mock

(c) Disparage (d) Scoff
16.ldentify the synonym of the given word.

‘Credulous’

(a) Trusting (b) Interest

(c) Joyous (d) Interpret

17.1dentify the meaning of the given
idioms/phrases.
To wrangle over an ass’s shadow.
(@) To do something funny
(b) To quarrel over the possession of an ass
(c) To waste time on pretty things
(d) To quarrel over trifles

18.ldentify the incorrect part.
| have done my best (a)/ the whole thing is now
(b)/ in the laps of the Gods. (c)/ No error (d)

(a) A (b) B

(c) C (d)D
19.Form an adjective from the given word.

‘Senses’

(a) The senses (b) Senses

(c) Senser (d) Sensible
20.Give the plural of the given word.

‘Goose’

2

(a) Gooses (b) Goose
(c) Goosee (d) Geese

21.How many Articles are there in the Indian
Constitution?

YR WAy § fora 3r=e 872
(@) 395 (b) 396
(c) 398 (d) 399

22.Which of the following states is a member of the
‘Seven Sisters’?

?ﬁ@ﬁﬁﬁﬁq—mwﬁaﬁr%ﬁ?ﬂww
?

(a) West Bengal / Gf3H s@

(b) Tripura / BQT

(c) Bihar / fd8R

(d) Orissa / JSIT

28.Who is known as Father of Medicine?

RIfa & fUar & = A 5T SH1 i1 82
(a) Avristotle / 3]
(b) Theophrastus / f3hReH

(c) Hippocrates / %@M
(d) Edward Jenner / TSTS SIFR

24.Computer ...... is whatever is typed, submitted
or transmitted to a computer system.

HR ... O & i U Bl 5, I ol

31aT S foham STl § HIeR Jorel &

(@) Input/ dYc  (b) Output / AT3cYc

(c) Data/SIel  (d) Circuitry / gfdhes}
25.The headquarter of the International Court of

justice is at

RIS ARTerd &1 AT &-

(a) Geneva/ @ﬁiﬂ(b) The Hague Il

(c) Rome /39 (d) Vienna / fauT
26.Name the Country,that had become the 72nd

country to sign the Framework Agreement of
the International Solar Alliance (ISA)with India?

3 G BT M Fa1RT, S HRA & 1Y SRIPA

R T3Ee) SMETHT (b TpHdsd TSN R

SR qo@ gTa 7231 <= & 1 82

(a) France / /i (b) Canada / H-TSI

(c) Argentina/ 3SR (d) Russia / &Y
27.The Great Barrier reef is

I IR A 2-

(a) conglomeration of Corals in Australian

waters SRS STd # B B TG
(b) mountains range in Utah, USA gcT, Tgad

T ARG H Uad Y@ar

MOB: 9795977779, 9795977776 LUCKNOW- INDIRA NAGAR, ALAMBAGH, ‘Come to Learn...Go to Serve...!




(c) salt hills of Afghanistan I B
TAF $I ygIrear

(d) sub-oceanic mountain in South China Sea
&1 99 IR ¥ SU-HeNINRIY udd
28.NABARD was established in the

TTETS &1 RITTHT B T8 -

(&) Fourth Five Year Plan EINIECN RG]
(b) Fifth Five Year Plan / Of<idl Garayfa gierr
(c) Sixth Five Year Plan RN ERISE
(d) Eight Five Year Plan / 3Tadl Uaasfg g

29.In India, population density is defined as the
number of persons
URA ¥, SFEBT gcd Bl Al bl ST b
0 B uRwIRd b T &-
(a) per square mile / ufa ot Ha
(b) per square kilometer / Ufd 7f frater
(c) per lakh square mile / Ufd oRg a7 Hid
(d) per lakh square kilometer afd aRg aF

ferdier

30.Which is not a Central Service?

HH-Hl B JaT g1 52

(a) Indian Police Service (IPS) HRdId ferd JdT
)IPS)

(b) Indian Foreign Service (IFS) YR fag=r
Jdl) IFS)

(c) Indian Audit and Accounts Service (IAAS)
YRR T T8 3R AT FaT) IAAS)

(d) Indian Revenue Service (IRS) YR ol
YelT) TS ARTH(

31.The first Indian State which was created on a
linguistic basis following along drawn agitation

IS

g YR IT S HTHTS SR Sieia & a1y
CRICIRIEIK S

(a) Andhra Pradesh / 371 TGRT

(b) Assam / HHH

(c) Tamil Nadu / dffd 1

(d) Karnataka / f-icd

32.C, BASIC, COBOL, and Java are examples of
....... language.

C, BASIC, COBOL 31X Java 32U ...... HNT

cdl
(@) low level / & dad

(b) computer / PHYCX
(c) system programing | RI%eq UrmtHT

(d) High-level / BT8-dad

3

33.In order to regularize the system of levying
stamp duty, President Ram Nath Kovind gave
his assent to the amendments of which of the
following Act recently?

T Yedh T &1 YOl &I Fafid s &
fere, Jrpafa I 1 Fifds A g1a & & FAafared
H ¥ fobg SHfUge & G=neyl o forg eiu
FgHfd gl
(@) Indian Stamp Act, 1899 / YR Ty
, 1899
(b) Indian Stamp Act, 1999 / HRdIT Y
, 1999
(c) Indian Stamp Act, 1999 / YRAY Ty
3w, 1999
(d) Indian Stamp Act, 1979/ YRAG Ty
, 1979
34.The first computer was programmed using
Ugd HHYLR BT SUTNT Hcb WITH fobdm 7T oT-
(a) assembly language / PHISTAROT HTHT
(b) machine language / TR HToT
(c) spaghetti code | TS B
(d) source code / I B
85.Which of the following is not the unit of time?
frafiied & § o wHg Bt 5318 T8 872
(a) Parallactic second / WIdifdes JHUg

(b) Microsecond / Iﬂ%ﬁ'@?ﬁ%’
(c) Leap year/ 3iferay
(d) Solar day / IR f&q
36.What is the largest number of 4 digits which

divided by 6, 9, 12, 15 or 18 leaves and 1 as
remainder in each case?

4 3] ) T TSI T T § ot T FRufay &
6,9, 12, 15 37ar 18 ¥ fauIfiord gicfi § ok 1 2w
Brsl 87
(a) 9901 (b) 9899
(c) 1081 (d) 9673

37.The diameter of a circle is increased by 3 cm,
then the ratio of new radius to the new
circumference will be

TS 9 1 1 3 Yt Sgran o &, fbr it

oY o for Tt e &1 Srurd 8-
(a)2m: 1 (b)T:2
(c)2:m (d)1:2m
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88.25% of what amount of money is equal to
12%/, % of Rs. 180?

o IR BT 250 SRIER § 180 T F 124, % &

(@) 120 Rs. /¥ (b) 75Rs. /2

(c) B0Rs. /% (d)90Rs. />
39.The average age of a class is 15.8 year. The

average age of the boys in the class is 16.4

year and that of the girls is 15.4 year. What is
the ratio of boys to girls in the class?
TS H&1 1 39d 3G 15.8 I8 ¢ | H& | Asd!
DI T 3 16.4 T § 3R AS(Hal BI 15.4 T
8 He H Tsfohal & forT as ! o1 rurd &
87
(@ 1:2.
(b)2:3
(c) 3:4
(d) Cannot be determined / fRuifa el foear s
o dl|
40.A man covers half of his journey at 6 km/h and

the remaining half at 3 km/h. His average speed
is

Tch SAfoR] U AT BT 1T U 6 foheii/euer
3R A 31 3 fopHauer & T BT 81 IH!
3frerd T 8-
(@) 9 km/h / fepHiEUeT
(b) 4.5 km/h / fepH1ErUeT
(c) 4 km/h / fHiraTer
(d) 3 km/h / foediEer

41.Evaluate (3 cos? 30° + sec?30° + 2 cos 0° + 3
sin 90° — tan? 60°).
(3 cos? 30° + sec? 30° + 2 cos 0° + 3 sin 90° —

tan2 60°) &I Jedidhd PR |
@) 5 7z (b) 7 %12
() 5%/, (d) 12 %+

42.Direction : Select the related word from the
given alternatives.
= fau T fawent § ¥ Faifta wrsg &) gfu|
Country : President : : State : ?
o Tl'gclﬁf: S
() Chief Minister / GAH!
(b) Prime Minister / G
(c) Speaker /[ dddl

4

(d) Governor / ISUUTd

43.Direction : Select the related number from the
given alternatives.
REg: Ryt Reed! § § g6 gem # ghu)
?:63::08:26

(a) 12 (b) 9
(c) 18 (d) 15
44 .Find the wrong number from the given series.
&} TS e o  Tad T J1d B
1236, 2346, 3456, 4566, 5686
(a) 1236 (b) 4566
(c) 3456 (d) 5686

45.Pointing to a lady on the platform, Manju said,
“She is the sister of the father of my mother’s
son.” Who is the lady to Manju?
Hd R U Higell D1 3R IRT $HRd gY, T A
g1, “I8 B Al & 9¢ & a1 &t 98 5 I Afgan

Ho| B B 82
(a) Mother / AT (b) Sister / g
(c) Aunt /3T (d) Niece / Hisft

46.In a row of girls, Rita and Monika occupy the
ninth place from the right end and tenth place
from the left end, respectively. If they
interchange their places, then Rita and Monika
occupy seventeenth place from the right and
eighteenth place from the left respectively. How
many girls are there in the row?
Aefpat F e Ui §, 1 R Wi B
S BR I A1d RIM W 3R 918 3R I gud ®IF
W g1 e § 3 RIF B 9ed 2d §, o Har 3R
AT HURT: GIE J TARd VI W 3R a9
3GRED RIF IR el ¢ | Ufda & fba-! asfaar
&2
(@) 25
(b) 26
(c) 27
(d) Data inadequate / STHHRY 3¢ B

47.1f PRADESH is written as 1234567, how will
PARAS be written?
3R PRADESH &1 1234567 forar siiar g, a

PARAS &I &Y ferar Srum?
(a) 13235 (b) 13536
(c) 13236 (d) 14436
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48.If $ means +, # means —, @ means x and *
means +, then what is the value of 16 $4 @ 5 #
72 *87?
gfe $ &1 3f+ , # BT 31 | @ 7 31 x 3R * BT
3+ 8, A 16$ 4 @ 5# 72 *8 BT HMH TSI
(@ 25 (b) 27
(c) 29 (d) 36

49.Bharati is 8 ranks ahead of Divya who ranks
twenty-sixth in a class of 42 students. What is
Bharati’s ranks from the last?

YR fGa ¥ 8 ¥ ST § S 42 BE &t Ham &

FEd WM R ¢ Iy ¥ YRA &1 ¥ a1 82

(a) 9th / odf (b) 24th / 243

(c) 25th / 25dt (d) 34th / 344
50.Select the answer figure in which question figure

is hidden / embedded.
I IR 3P BT I8 D o qH gy Srepial fdt

13rafRd g1

(x) (A) (B) (C) (D)
(@A (b)B
©C (d)D

AIRFORCE - (Y GROUP)
ANSWER KEY

O » O O O O O W
> O » O W O > O
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